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Use the link from bbc bitesize if you need a recap about algebra. Remember you can also message one of the year 6 team if you need help.
https://www.bbc.co.uk/bitesize/topics/zghp34j
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@ 2 packet there are 42 biscuits. There are 4 plain biscuits to every 2 chocolate.

How many chocolate biscuits are in the packet?

@ steph shares 20 sweets. She gives 4 sweets to Winston for every 1 she keeps.

How many sweets does she give to Winston?

@ Deano, the decorator, is making a new shade of paint. He miseslilac and white, as

shown in the diagram, to get the new shade.
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Next, Deano makes 15 ltres of the new shade.
How many one litre tins of each colour does he use?
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@ Thereare 7 footballs to every 4 rugby balls.
There are 28 rugby balls. How many balls are there in total?

@ complete the table to show the amounts needed to make fuit juice for 4 and 9 people.

Lemonade | Orange juice | Lime juice Water
(ml) (ml) (ml) (ml)
5 people 400 350 150 500

4 people

9 people
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Find pairs of numbers that satisfy an equation with two unknowns

@ Find the missing values. Write your answer in the box.
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@ Find the missing values in each of the following.
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